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Section 1 - PaperI-English Language 

1) Select the correct form of the verb from the given 
options.  
She is shocked because she ____________ an accident. 

 
A) has met with  
B) met  
C) had met with  
D) did meet with  

 

 
 
2) Find the most appropriate opposite meaning word: 
DEAR  

A) Endeared  
B) Cherished  
C) Esteemed  
D) Despised  

 

 
Read the passage and answer the questions that follow: 
 
A dental hygienist or oral hygienist is a licensed dental 
professional, registered with a dental association or 
regulatory body within their country of practice. Prior to 
completing clinical and written board examinations, 
registered dental hygienists must have either an 
Associate's or Bachelor's degree in Dental Hygiene from 
an accredited college or university. Once registered, 
hygienists are primary healthcare professionals who work 
independently of or alongside dentists and other dental 
professionals to provide full oral health care. They have 
the training and education that focus on and specialize in 
the prevention and treatment of many oral 
diseases.Dental hygienists have a specific scope of 
clinical procedures they provide to their patients. They 
assess a patient's condition in order to offer patient-
specific preventative and educational services to promote 
and maintain good oral health. The use of therapeutic 
methods assists their patients in controlling oral disease, 
while providing tailored treatment plans that emphasize 
the importance of behavioral changes. Some dental 
hygienists are licensed to administer local anesthesia and 
perform dental radiography. Dental hygienists are also the 
primary resource for oral cancer screening and 
prevention. Dental hygienists work in a range of dental 
settings, from independent, private, or specialist practices 
to the public sector. They can also work in residential aged 
care facilities. Dental hygienists work together with other 
dental professionals, with a higher number working at 
general practices with dentists, dental therapists and oral 
health therapists. A smaller number work at specialist 
practices alongside orthodontists and periodontists. They 
help with the contribution of an interdisciplinary approach, 
aiming to provide optimum oral health care to their 

patients. Dental hygienists also aim to work inter-
professionally to provide holistic oral health care in the 
best interest of their patient. Dental hygienists also offer 
expertise in their field and can provide a dental hygiene 
diagnosis, which is an integral component of the 
comprehensive dental diagnosis. Dental hygienists may 
also serve as researchers and as educators in dental 
hygiene programs.  
 
3) Dental hygienists may also work as  

A) Orthodontists  
B) Researchers  
C) Dentist  
D) Periodontists  

 

 
 
4) Along with treatment plans, Dental Hygienists also 
provide  

A) Therapeutic methods  
B) Behavioral methods  
C) Cathartic methods  
D) Psychological methods  

 

 
 
5) Once registered, Dental hygienist provide  

A) Full oral health care  
B) Teeth care  
C) Cavity care  
D) Gum care  

 

 
 
6) Dental hygienist are also the primary resource for the 
screening of  

A) Root canal infection  
B) Oral injury  
C) Oral cancer  
D) Bleeding gums  
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7) Some Dental hygienists have the license to  

A) perform dental radiography  
B) suggest oral chemical therapy  
C) perform dental surgery  
D) perform chemotherapy for oral cancer  

 

 
 
8) Find out the most appropriate similar meaning word: 
LAMENT  

A) Comment  
B) Console  
C) Complain  
D) Condone  

 

 
 
9) What is the plural form of Deer?  

A) Deeris  
B) Deeres  
C) Deer  
D) Deer's  

 

 
 
10) Select the correct option.  
He is __________ first boy from the class to participate in 
the race. 

 
A) an  
B) a  
C) no article  
D) the  
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Section 2 - PaperI-Education and General Awareness 

 

11) Which of the following gases is commonly known as 
laughing gas?  

A) Sulphur dioxide  
B) Sodium oxide  
C) Carbon dioxide  
D) Nitrous oxide  

 

 
 
11) ନମିȪମżରୁ େକଉଁ ଗȻାǩ  ସାଧାରଣ ଭାେବ ଲାଫିŏ ଗȻାସ ଭାେବ ପରଚିତି?  

A) ସǤ ଫର ଡାଇଅŅାଇଡ  
B) େସାଡୟିମ ଅŅାଇଡ  

C) ଅŏାରକାମȲ  
D) ନାଇǺǩ  ଅŅାଇଡ  

 

 
 
12) Which of the following goals from the 1968 National 
Policy on Education was claimed to be achieved by 
National Policy on Education, 1986?  

A) Setting up of a school within a kilometer and adoption 
of a common education structure  

B) Raising educational standards and increased access 
to education  

C) Safeguarding the values of secularism, socialism and 
equality  

D) Government receiving financial support from the 
private sector to complement government funds  

 

 
 
12) ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1986 Ÿାରା ଶŁିା 
ସମȴƆେର  ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1968 ମżେର ǆବା ନମିȪ 
ଲŁȻମାନŋ ମżରୁ େକଉଟଁ ିହାସଲ କରାଯାଇଛ ିେବାଲି ଦାବ ିକରା ଯାଇ ǆଲା?  

A) ଏକ କେିଲାମଟିର ମżେର ବଦିȻାଳୟ ନମିƽାଣ ଏବଂ ସାଧାରଣ ଶିŁା ବȻବƳାକୁ 
ǲହଣ କରବିା  

B) ଉőଶŁିା ର ଗଣୁାŮକ Ʊର ଏବଂ ଏହାକୁ ସହଜେର ପାଇବା  
C) ଧମƽନରିେପŁତା ,ସମାଜବାଦୀ ଏବଂ ସମାନତାର ମଲୂȻେବାଧ କୁ ସରୁŁାଦୟି 
D) ସରକାର ଘେରାଇ ସଂƳାମାନŋର ଠାରୁ ଅଥƽେନତୖକି ସାହାଯȻ େନଇ 

ସରକାରୀ ଭŢାରକୁ ପରପିୂରକ ଭାେବ ବୃŶି କରିବା  
 

 

13) What is the full form of NIEPA?  

A) National Institute of Entrance Planning and 
Administration  

B) National Institute of Educational Planning and 
Admission  

C) National Industry for Educational Planning and 
Administration  

D) National Institute of Educational Planning and 
Administration  

 

 
 
13) ଏନଆଇଇପିଏ ର ସƓťୂƽ ନାମ କଣ?  

A) ନȻାସନାଲ ଇନƨିଚୁȻଟ ଅଫ ଏŠȱାǜ ସ ପȲାନଂି ଏŢ ଆଡମନିେିƩସନ  
B) ନȻାସନାଲ ଇନƨିଚୁȻଟ ଅଫ ଏଜୁେକସନାଲ ପȲାନଂି ଏŢ ଆଡମସିନ  
C) ନȻାସନାଲ ଇŢƩି ଫର ଏଜୁେକସନାଲ ପȲାନଂି ଏŢ ଆଡମିନେିƩସନ  

D) ନȻାସନାଲ ଇନƨିଚୁȻଟ ଅଫ ଏଜୁେକସନାଲ ପȲାନଂି ଏŢ ଆଡମନିେିƩସନ  
 

 
 
14) Which of the following schemes was set up for 
providing quality education to talented rural children?  

A) Model School Scheme  
B) Universal Primary Education Scheme  
C) Rashtriya Madhyamik Shiksha Abhiyan  
D) Saakshar Bharat Scheme  

 

 
14) ନମିȪ େଯାଜନା ମżରୁ େକଉଁଟ ି Ȅବୀଣ ଗାଉଁଲି ଛୁଆŋୁ ଗଣୁାŮକ ଶŁିା 
େଯାଗାଇ େଦବା ପାଇଁ କରାଯାଇǆଲା?  

A) ମେଡଲ Ưଲୁ Ưିମ  
B) ୟୁନଭିସƽାଲ Ȅାଇେମରୀ ଏଜୁେକସନ Ưିମ  
C) ରାƩୀୟ ମାżମିକ ଶŁିା ଅଭିଯାନ  

D) ସାŁର ଭାରତ Ưିମ  
 

 
15) Which Article of the Indian Constitution details the role 
of the Comptroller and Auditor General of India, his 
appointment, oath and conditions of service?  

A) Article 148  
B) Article 165  
C) Article 178  
D) Article 187  
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15) ଭାରତୀୟ ସମିȴଧାନର େକଉଁ ଅନୁେŒଦେର ଭାରତର କƓେǺାଲǣ  ଓ ଅଡଟିǣ  
େଜେନରାଲ ŋ ଭୂମକିା, ତାŋ ନଯୁିĽି, ଶପଥ ଓ େସବାର ସŧƽାବଳୀଗଡୁିକ ଉେơଖ 
ଅଛ?ି  

A) ଅନୁେŒଦ 148  
B) ଅନୁେŒଦ 165  
C) ଅନୁେŒଦ 178  

D) ଅନୁେŒଦ 187  
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Section 3 - PaperI-Reasoning 

 

16) Instruction: Below mentioned are statements followed 
by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance 
from the commonly known facts. Read all the conclusions 
and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly 
known facts.  
Statements: 

All mangoes are fruits. 

No fruit is flower 

Conclusions:  

I) No mango is flower 

II) All fruits are mangoes 

 
A) Only II follows  
B) Both I and II follows  
C) Only I follows  
D) None of the conclusions follow  

 

 
 
16) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: ସବୁ ଆମȴ ଗଡୁକି ଫଳ। େକୗଣସ ିଫଳ ଫୁଲ ନୁେହ ଁ। 

ନƦିସƽ:  

I) େକୗଣସ ିଆମȴ ଫୁଲ ନୁେହ ଁ।  

II) ସବୁ ଆମȴ ଗଡୁକି ଫଳ । 

 
A) େକବଳ II ଅନୁସରଣ କରŽୁ  
B) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  

C) େକବଳ I ଅନୁସରଣ କରŽୁ  
D) େକୗଣସ ିବ ିନƯିଷƽ କୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  

 

 
 
 
 
 

17) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 

What is the area of the rectangular tennis court? 

Statement I : Length of the court is 78 feet. 

Statement II : Two players are playing on the court. 

 
A) 1  
B) 4  
C) 2  
D) 3  

 

 
 
17) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

ଆୟŧାକାର େଟନସି େକାଟƽର େŁǿଫଳ େକେତ? 

ମŽବȻ I :  େକାଟƽର େଦଘୖƽȻ 78 ଫୁǓ େହାଇଥାଏ ।  

ମŽବȻ II : େକାଟƽେର ଦୁଇ ଜଣ େଖଳାଳ ିେଖଳୁଛŽ।ି 

 
A) 1  
B) 4  
C) 2  
D) 3  
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18) If X:W = 3:8, X:Y = 4:9 and Z:Y = 5:7, then Z : W is  

A) 224 : 135  
B) 60 : 504  
C) 135 : 224  
D) 504 : 60  

 

 
 
18) ଯଦ ିX:W = 3:8, X:Y = 4:9 ଆଉ Z:Y = 5:7, ତାହାେଲ  
Z : W =  
A) 224 : 135  
B) 60 : 504  
C) 135 : 224  
D) 504 : 60  

 

 
 
19) In a certain code language MOUSE is written as 
HVXRP. How is EAGLE written in that code language?  

A) GNICG  
B) ELGAE  
C) HOJDH  
D) FMHBF  

 

 
 
19) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର MOUSE କୁ  HVXRP େବାଲି 
େଲଖାଯାଇଥାଏ । େସହ ିଭାଷାେର EAGLE କଭିଳ ିେଲଖାଯିବ ?  

A) GNICG  
B) ELGAE  
C) HOJDH  
D) FMHBF  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

20) Instruction: Below mentioned are statements followed 
by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance 
from the commonly known facts. Read all the conclusions 
and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly 
known facts.  
Statements: 

Some soaps are brushes. 

Some brushes are pastes. 

No paste is shampoo. 

Conclusions:  

I) No shampoo is brush. 

II) No paste is soap. 

III) Some brushes are soaps. 

 
A) Only I follows  
B) Only III follows  
C) Only II and III follows  
D) Only I and II follows  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିସାବୁନ େହଉଛ ିȆସ । କଛି ିȆସ େହଉଛ ିେପƨ୍ । େକୗଣସ ିେପƨ୍ ସାƓ ୁ
ନୁେହ ଁ।  

ନƦିସƽ:  

I) େକୗଣସ ିସାƓୁ Ȇସ ନୁେହ।ଁ  

II) େକୗଣସ ିେପƨ ସାବୁନ ନୁେହ ଁ  

lll) କଛି ିȆସ େହଉଛ ିସାବୁନ 

 
A) େକବଳ I ଅନୁସରଣ କରŽୁ  

B) େକବଳ III ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Select the programme to which NCTE never notified 
the revised Regulations and Norms and Standards in the 
year 2014.  

A) Bachelor of education programme 3-year (Part Time) 
leading to Bachelor of Education (B.Ed.) degree  

B) Diploma in pre-primary education programme through 
Distance Learning System leading to Diploma in 
Secondary Education (D.SEd.)  

C) 3-year Integrated programme leading to B.Ed., M.Ed. 
(Integrated) Degree  

D) Diploma in elementary education programme through 
Open and Distance Learning System leading to 
Diploma in Elementary Education (D.El.Ed.)  

 

 
 
21) ଉĽ କାଯƽȻǰମଗଡ଼ୁକୁି ଚୟନ କରŽୁ େଯଉǆଁପାଇଁ ଏǜ ସଟିଇି ( NCTE) 
2014 ବଷƽେର ସଂେଶାଧୀତ ନୟିମ, ମାନଦŢ ଏବଂ ମାନକ ଆେଦୗ ସୂଚତି କର ି
ନାହ ǂ।  

A) ବȻାେଚଲǣ  ଅǞ  ଏଡୁେକସǜ  (ବ.ିଏǕ (B.Ed.)) ଡǲିୀ ସୃƨକିରǆିବା ୩ 
ବଷǃଆ ବȻାେଚଲǣ  ଅǞ ଏଡୁେକସǜ (ପାଟƽ ଟାଇǡ ) େȄାǲାǡ   

B) ଡେିପȲାମା ଇǜ  େସେକŢାରୀ ଏଡୁେକସǜ  (ଡ.ି ଏǩ ଏǕ   (D.SEd.)) ସୃƨି 
କରǆିବା ଦୂର ଶŁିା ବȻବƳାେର ଡେିପȲାମା ଇǜ  Ȅି-Ȅାଇେମରୀ ଏଡୁେକସǜ  
େȄାǲାǡ   

C) ବ.ି ଏǕ  ଏବଂ ଏǡ . ଏǕ  (ସମନିȴତ) ଡǲିୀ ସୃƨି କରିǆବା ୩-ବଷǃଆ ସମନିȴତ 
କାଯƽȻǰମ  

D) ଡେିପȲାମା ଇǜ  ଏଲିେମŠାର ିଏଡୁେକସǜ  (ଡ.ି ଏǤ ଏǕ  (D.El.Ed.)) ସୃƨି 
କରǆିବା ମĽୁ ଏବଂ ଦୂର ଶŁିା ବȻବƳାେର ଡେିପȲାମା ଇǜ  ଏଲିେମŠାର ି
ଏଡୁେକସǜ  େȄାǲାǡ   

 

 
 
22) As per Howard Gardner's theory of multiple 
intelligences, which among the following options is FALSE 
with reference to characteristics of individuals with 
Interpersonal Intelligence?  

A) People who are good at managing relationships  
B) People who understand and easily interact with others 
C) People who are good at analyzing their own strengths 

and weaknesses  
D) People who are good at resolving conflict in groups  

 

 
 
 
 

22) ହାୱାଡ଼ƽ ର ଗାେଡƽନǣ ŋର ଅେନକ ବୁŶମିତା ର ସŶିାŽ ଅନୁସାେର 
ଇŠରପଶƽନାଲ ଇେŠଲିେଜନȷ ǆବା ବȻĽିŋର ବେିଶଷŭ ସƃଭƽ େର ନମିȪଲିǅତ 
ମżରୁ େକଉଁ ବକିƝ ଭୁଲ ଅେଟ?  

A) େଯଉଁ େଲାକ ମାେନ ସƓକƽ ଭଲ ରǅପାରŽ ି 
B) େଯଉ ଁେଲାକ ମାେନ ବୁଝŽ ିଓ ସରଳ ଭାବେର ଅନȻ ସହତି କଥାବାŧƽା କରŽ ି

C) େଯଉଁ େଲାକ ମାେନ ନଜିର ଶĽି ଓ ଦୁବƽଳତା କୁ ବେିƥଷଣ କରବିାେର ସŁମ 
D) େଯଉଁ େଲାକ ମାେନ ସମହୂ େର ସଂଘଷƽ କୁ ସମାଧାନ କରିବାେର ଉŧମ 

ଅଟŽ ି 
 

 
23) Kinesthetic learning is also known as  

A) Hands-off learning  
B) Tactile learning  
C) Passive learning  
D) Micro learning  

 

 
23) କାଇେନେƳଟǉି  ଲନǃŏ କୁ ମż ଆଉ କଣ କୁହାଯାଏ?  

A) ହȻାŢǩ -ଅǞ  ଲନǃŏ  
B) ଟାକȡାଇଲ ଲନǃŏ  

C) ପȻାସଭି ଲନǃŏ  

D) ମାଇେǰା ଲନǃŏ  
 

 
24) Which of the following commissions put emphasis on 
'Accelerating the process of Modernization ' as one of the 
national objectives of education?  

A) The Sadler Commission  
B) Indian Education Commission  
C) Secondary Education Commission  
D) The Mudaliar Commission  

 

 
 
24) ନେିମȪାĽ ମżରୁ େକଉଁ କମିଶନ ‘ଆଧନୁକିୀକରଣ Ȅǰିୟାକୁ ŭରାନିȴତ’ 
କରବିାକୁ େଦଶେର ଶŁିାର ଏକ ଲŁȻ ଭାବେର ଗୁରୁŭ Ȅଦାନ କରଛିŽ?ି  

A) ସାଦେଲର କମିଶନ  

B) ଭାରତୀୟ ଶିŁା କମଶିନ  
C) ମାżମିକ ଶŁିା କମଶିନ  

D) ମଦୁାଲିଆର କମିଶନ  
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25) In which of the following agencies of education, do 
both the agency and the individual actively participate and 
share in the educative process?  

A) Films  
B) Television  
C) Newspaper  
D) Home  

 

 
 
25) ଶŁିାର ନମିȪ ଅନୁƪାନଗୁଡ଼କି ମżରୁ େକଉଁǆେର ଉଭୟ ଅନୁƪାନ ଏବଂ 
ବȻĽିବେିଶଷ ସǰିୟ ଭାବେର ଶିŁା ପŶତେିର ଅଂଶǲହଣ ଏବଂ Ȅସାର କରŽି ?  

A) ଫିଲȯସ  

B) େଟଲିଭଜିǜ   
C) ସମȴାଦପǿ  

D) ଗୃହ  
 

 
 
26) Open schools are opened for those people who  

A) don’t like to take education seriously  
B) belong to the elite class and cannot come to school  
C) are very busy so cannot come to school  
D) are engaged in job or not able to come to school daily 

 

 
 
26) ମĽୁ ବଦିȻାଳୟ େସହମିାନŋ ପାଇଁ େଖାଲାଯାଇଛ,ି େଯଉଁମାେନ  

A) ଶŁିାକୁ ଗୁରୁŭର ସହ ନଅିŽ ିନାହ ǂ  
B) ସƘାŽ େȎଣୀର ଓ Ưଲୁକୁ ଆସପିାରେିବ ନାହ ǂ  
C) ଅତȻŽ ବȻƱ ଓ Ưଲୁ ଆସପିାରେିବ ନାହǂ  
D) େକୗଣସ ିଚାକରିେିର ବȻƱ ଅଛŽି କମିȴା Ȅତଦିନି Ưଲୁ ଆସିବାକୁ ସŁମ ନୁହŽ ି

 

 
 
27) According to Edward T. Hall's theory, which of the 
following options is FALSE with reference to the 
characteristics of high-culture context?  

A) The people of this culture use strong non-verbal 
communication  

B) The people of this culture give more importance to 
relationships than tasks  

C) The people of this culture work under tight deadlines, 
product is more important  

D) The people of this culture demonstrate robust family 
and community bonds  

 

27) ଉő ସଂƯାରର ଲŁଣ ଗଡ଼ୁକି ସƃଭƽେର, ଏଡୱାଡƽ ଟ.ି ହଲŋ ସŶିାŽ 
ଅନୁସାେର, ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିଭୁଲ ଅେଟ?  

A) ଏହ ି ଗୁଣ ବଶିƨି େଲାକମାେନ ଅତȻǇକ ଅଣେମୗǅକ େଯାଗାେଯାଗ 
ବȻବହାର କରଥିାŽ ି 

B) ଏହ ି ଗୁଣ ବଶିƨି େଲାକମାେନ କାଯƽȻ ଅେପŁା ସƓକƽ କୁ ଅǇକ ଗୁରୁŭ 
େଦଇଥାŽ ି 

C) ଏହ ିଗୁଣ ବଶିƨି େଲାକମାେନ ƸƝ ସମୟ ମżେର ଉŬାଦକୁ ଅǇକ ଗୁରୁŭ 
େଦଇ କାମ କରଥିାŽ ି 

D) ଏହ ି ଗୁଣ ବଶିƨି େଲାକମାେନ ମଜବୁତ ପରିବାର ଏବଂ ସƔଦାୟ ବƆନ 
Ȅଦଶƽନ କରଥିାŽ ି 

 

 
 
28) In context to classroom management, what is Echo 
technique?  

A) Specific statements which need to be emphasized 
spoken louder than normal pitch  

B) The teacher speaks louder than normal so that 
students understand better  

C) One student speaks loudly so that entire class is able 
to listen to the words clearly  

D) The teacher reads a text and students repeat it over 
and over again to keep everyone engaged  

 

 
 
28) େȎଣୀଗୃହ ପରିଚାଳନା ସƃଭƽେର, ଇେକା େଟକନକି କଣ ଅେଟ ?  

A) ନŵିǃƨ ବାକȻ ଯାହାକୁ ଗୁରୁŭ େଦବା ଦରକାର ତାହାକୁ ସାଧାରଣ ଠାରୁ ଅǇକ 
େଜାରେର କହବିା  

B) ଶŁିକ ସାଧାରଣ ଠାରୁ ଅǇକ େଜାରେର କହେିବ ଯାହାŸାରା ବଦିȻାଥƽୀମାେନ 
ଭଲ ଭାବେର ବୁଝି ପାରିେବ  

C) ଜେଣ ବଦିȻାଥƽୀ ଏେତ େଜାରେର କହବି େଯ ପୁରା େȎଣୀ ଶƑଗୁଡ଼କୁି ଭଲ 
ଭାବେର ଶଣୁି ପାରୁǆବ  

D) ଶŁିକ ଏକ େଲଖା ପଢ଼େିବ ଏବଂ ବଦିȻାଥƽୀମାନ ଏହାକୁ ବାରମȴାର ପଢ଼ ି
ସମƱŋୁ ବȻƱ ରǅେବ  

 

 
 
29) When a student is facing problems in writing properly, 
the situation is called  

A) Dysgraphia  
B) Dyslexia  
C) Dyscalculia  
D) Dysphasia  
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29) ପଲିାଟଏି ଠǉି ଭାେବ େଲǅ ପାରୁନǆବା ଅବƳାକୁ କଣ କୁହାଯାଏ ?  

A) ଡସିǲାଫିୟା  
B) ଡସିେଲŅିୟା  
C) ଡସିକାଲକୁଲିୟା  
D) ଡସିଫାସିୟା  

 

 
 
30) Which of the following is NOT a characteristic of an 
aggressive child?  

A) Becomes frustrated easily  
B) Frequently loses his temper  
C) Inevitably challenges authority  
D) Acts as an arbitrator  

 

 
 
30) ନମିȪଲିǅତ ମżେର େକଉଁଟ ିଆǰାମକ ପିଲାର ଲŁଣ ନୁେହଁ ?  

A) ସହଜେର ନରିାଶ େହାଇଯିବା  
B) Ȅାୟତଃ ରାଗଯିିବା  
C) ଅନବିାଯƽȻ ଭାେବ ଅǇକାରୀŋୁ ଆହȴାନ େଦବା  
D) ମżƳ ଭାେବ କାଯƽȻ କରବିା  
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Section 5 - PaperII-Odia Language 

 

31) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ିଭƊି ଶƑ ଚƺିାଅ?.  

A) ବାତାୟୁ  

B) ମŧଗś   
C) କୁśର   
D) ବାରଣ   

 

 
 
32)  ବŗିାନ ର ବକିାଶ ଫଳେର ସମƱ ଅସƗବ ସƗବ େହାଇ ପାରୁଛ ି| େରଖାŋିତ 
ଶƑଟରି ସଠିକ ବନାନ କଣ େହବ ?  

A) ǟ+ଇ+ǋ+ǭ+ଆ+ନ  
B) ବ+ିǋ+ୟ+ନ  

C) ǟ+ଇ+ŗ+ଆ+ନ  
D) ǟ+ଇ+ǐ+ǒ+ଆ+ନ  

 

 
 
33) ବାକȻେର ବେିଶଷȻ ଷƪୀ ବଭିĽି ଯĽୁ େହାଇ ବେିଶଷଣ ରୂେପ ବȻବହୃତ 
େହେଲ ତାହାକୁ ____ବେିଶଷଣ କୁହାଯାଏ ? ଉପଯĽୁ ଶƑ Ÿାରା ଶୁନȻƳାନ 
ପୂରଣ କର |  

A) ସବƽ ନାମକ   
B) ବେିଶଷଣ ର ବେିଶଷଣ  
C) ǰିୟା ବାଚକ ବେିଶଷଣ  

D) ସମȴƆ ବାଚକ   
 

 
 
34) ‘କଳାକାଠ ପଡ଼ିଯିବା’– ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଶୁǅଲା ଦଶିିବା    
B) କଳା ରŏର କାଠ  
C) କଳାେଲାକ  

D) େପାଡ଼ା କାଠ  
 

 
 
35) ବସŽ ୠତୁମାନŋେର ରାଜା’ – ଏଠାେର େକଉଁ ବଭିĽି େହାଇଛ ି?  

A) ପřମୀ  
B) ଚତୁଥƽୀ  

C) ସƌମୀ  
D) ଷƪୀ  

 

 
36) ǰିୟାକୁ ବକିଶତି କରୁǆବା ବେିଶଷଣ ପଦକୁ କ ିବେିଶଷଣ କୁହାଯାଏ ?  

A) ଅବƳା ବାଚକ  
B) ପୂରଣ ବାଚକ   
C) ଭାବ ବାଚକ  

D) ଗଣୁ ବାଚକ  
 

 
 
37)  'Łǿିୟ' - ଉĽ ଶƑଟ ିେକଉଁ େȎଣୀର ଶƑ ଅେଟ?  

A) େମୗଳକି  

B) େଯାଗରୂଢ଼  
C) ରୂଢ଼  

D) େଯୗଗିକ  
 

 
 
38) ‘ବଷƽା ଆଗମନେର ଚାଷୀକୁଳ ଆନƃତି େହେଲ ।- ଏଠାେର େକଉଁ ବଭିĽି 
େହାଇଛ ି?  

A) Ȅଥମା  
B) ସƌମୀ  
C) ତୃତୀୟା  
D) ପřମୀ  

 

 
 
39)  ମୂଳ ଶƑର ପୂବƽରୁ ବା ପେର ଆଉ ଏକ ରୂପ ସଂେଯାଗ କରି ନୂତନ ଶƑ 
ଗଠନ କରାଗେଲ ତାହାକୁ କ ିଶƑ କୁହାଯାଏ ?  

A) େଯୗଗିକ   
B) ŸରୁିĽ  

C) ବୁȻŬƊ  
D) େମୗଳକି  
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40) ନମିȪଲିǅତ ମżରୁ ଅସƓୃĽ ଶƑକୁ ପଥୃǉ କର |  

A) ନଦୀ  
B) ମନୁଷȻ  
C) ଇହୁଦୀ  
D) ଗଛ  

 

 
 
41) '◌ଂ' (ଅନୁƸାର) ଓ ' ◌ଁ ' ( ଚƄ ବƃୁି) କୁ କ ିବťƽ କୁହାଯାଏ ?  

A)  ଅŽƳ  
B) ଅବଭିାଜȻ  
C) ଅେଘାଷ   

D) ଉଷȯ  
 

 
 
42) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘Ȅାଚୀ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ଅବାଚୀ  
B) ଉଦଚିୀ   
C) Ȅତୀଚୀ   
D) ପୂବƽ   

 

 
 
43) ‘ଅଗମୂଳ ନǆବା’ - ରୂଢଟିରି  ଅଥƽ କ’ଣ ?  

A) ସବୁେବେଳ ଗପିବା   
B) ଶୃŎଳା ନରହବିା  
C) କଛି ିନବୁଝବିା  
D) ଅǲାǇକାର  

 

 
 
44) ଶରିଃ+େଛଦ= ?  

A) ଶେିରାେଛଦ  
B) ଶରିେଛଦ  

C) ଶରିଃେଛଦ  
D) ଶରିେƣଦ  

 

 
 
 
 

45) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘ଗୃହ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ?  

A) େମଦନିୀ   
B) ସଦନ   

C) ଅବନୀ  
D) ଧରଣୀ   
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Section 6 - PaperII-Mathematics 

 

46) If A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3, 4, 5, 6} 
are subsets of the universal set U = {1, 2, 3, . . . , 10}, then 
A' U (B ∩ C) is equal to  

A) {3,4,5,6,}  
B) {2,4,6,8]  
C) {4,5,6,7,8,9,10}  
D) {1,2,3,4,5,6,7,8,9,10}  

 

 
 
46) ଯଦ ିA = {1, 2, 3, 4}, B = {2, 4, 6, 8} ଓ C = {3, 4, 5, 6} େହଉଛ ି
ୟୁନଭିସƽାଲ େସଟ U = {1, 2, 3, . . . , 10}ର ଉପେସଟ, େତେବ A' U (B ∩ 
C) ସମାନ  

A) {3,4,5,6,}  
B) {2,4,6,8]  
C) {4,5,6,7,8,9,10}  
D) {1,2,3,4,5,6,7,8,9,10}  

 

 
 
47) Asha bought 20 litres of milk at the rate of Rs. 30 per 
litre. She got it churned after spending Rs. 40 and got 5 
kg of cream and 20 litres of toned milk. If she sold the 
cream at Rs. 100 per kg and toned milk at 15 per litre, her 
profit percent is  

A) 10%  
B) 40%  
C) 25%  
D) 50%  

 

 
 
47) ଆଶା ଲିଟର ପିଛା Rs. 30 ଦରେର 20ଲିଟର ଦୁŇ କଣିେିଲ। େସ ଏହାକୁ 
Rs. 40 ଖőƽ କର ିେଗାଳାଇବା ପେର 5 େକଜ ିସର ଏବଂ ୨୦େକଜ ିେଟାǜ  ଦୁŇ 
ପାଇେଲ। ଯଦ ିେସ ସରକୁ େକଜ ିପିଛା Rs. 100େର ଏବଂ ଦୁŇକୁ ଲିଟର ପିଛା 
15େର ବǰିି କରŽି େତେବ ତାŋର ଲାଭର Ȅତଶିତ େହଉଛ ି 

A) 10%  
B) 40%  
C) 25%  

D) 50%  
 

 
 
 

48) Two numbers are in the ratio 3 : 4. If the sum of 
numbers is 91, what are the numbers?  

A) 75 and 100  
B) 40 and 51  
C) 42 and 56  
D) 39 and 52  

 

 
 
48) ଦୁଇଟ ିସଂଖȻାର ଅନୁପାତ 3 : 4 । ଯଦ ିସଂଖȻା ଗଡ଼ୁକିର ସମƨି 91 େତେବ 
ସଂଖȻାଗଡ଼ୁକି କ’ଣ?  

A) 75 ଏବଂ 100  
B) 40 ଏବଂ 51  

C) 42 ଏବଂ 56  
D) 39 ଏବଂ 52  

 

 
 
49) A book was sold for Rs. 60 with a profit of 20%. If it 
were sold for Rs. 52, the percentage of profit or loss would 
have been  

A) 4%  
B) 5%  
C) 10%  
D) 15%  

 

 
49) େଗାଟଏି ବହ ିRs. 60 ଦାǡ େର 22% ଲାଭେର ବǰିୟ କରାଗଲା। ଯଦ ି
ଏହା Rs. 52େର ବǰିି େହାଇଥାŽା େତେବ ଲାଭ କମିȴା Łତରି ପରମିାଣ 
େହାଇଥାŽା  

A) 4%  
B) 5%  
C) 10%  
D) 15%  

 

 
50) Eight bells commence tolling together and toll at 
intervals of 2, 3, 4, 5, 6, 8, 10 and 12 seconds respectively. 
In 30 minutes, how many times do they toll together?  

A) 16  
B) 17  
C) 12  
D) 15  
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50) ଆଠଟି ଘŠ ିଏକାସାŏେର ବାେଜ ଏବଂ ଯଥାǰେମ 2, 3, 4, 5, 6, 8, 10 
ଏବଂ 12 େସେକŢ ବȻବଧାନେର ବାଜଥିାଏ। 30 ମିନǓି େର େସଗୁଡ଼କି ଏକାଠ ି
େକେତଥର ବାଜବି?  

A) 16  
B) 17  
C) 12  

D) 15  
 

 
 
51) The H.C.F. of two numbers is 13 and the other two 
factors of their L.C.M. are 3 and 4. The larger number of 
the two numbers is  

A) 52  
B) 78  
C) 39  
D) 104  

 

 
 
51) ଦୁଇଟ ିସଂଖȻାର ଗ.ସା.ଗୁ 13 ଏବଂ େସଗଡ଼ୁକିର ଲ.ସା.ଗ.ୁର 2ଟ ିଗଣିୁତକ 3 
ଏବଂ 4 । ଦୁଇଟ ିସଂଖȻା ମżରୁ ବୃହŧମ ସଂଖȻା େହଉଛ ି 

A) 52  
B) 78  

C) 39  
D) 104  

 

 
 
52) If (4/3)x − 5 > x − 2, then the value of 'x' is  

A) x = 9  
B) x ≥ 9  
C) x < 9  
D) x > 9  

 

 
 
52) ଯଦ ି(4/3)x − 5 > x − 2, େତେବ 'x' ର ମଲୂȻ େହଉଛ ି 

A) x=9  
B) x≥ 9  

C) x < 9  
D) x>9  

 

 

53) A square garden of area 400 m2 is surrounded by a 
walkway of width 'x'. The total area of the walkway is 500 
m2. The width 'x' of the walkway is  

A) 15 m  
B) 10 m  
C) 5 m  
D) 25 m  

 

 
 
53) 400 ବଗƽ ମିଟର େŁǿଫଳ ବଶିିƨ ଏକ ବଗƽାକାର ଉଦȻାନର ଚାରପିାଖେର 
'x' ଚଉଡ଼ାର ଏକ ଚଲାପଥ ଅଛ ି। ଏହ ିଚଲାପଥର ସମଦୁାୟ େŁǿଫଳ 500 ବଗƽ 
ମଟିର । ଚଲାପଥ 'x'ର ଚଉଡ଼ା େହଉଛ ି 

A) 15 ମଟିର  

B) 10 ମଟିର  
C) 5 ମିଟର  
D) 25 ମଟିର  

 

 
 
54) The value of √1.5625 is  

A) 1.05  
B) 12.5  
C) 125  
D) 1.25  

 

 
 
54) √1.5625 ର ମଲୂȻ େହଉଛ ି 

A) 1.05  

B) 12.5  

C) 125  
D) 1.25  

 

 
 
55) Anil bought two varieties of powders, costing Rs. 5 per 
kg and Rs. 6 per kg each, and mixed them in some ratio. 
Then he sold the mixture at Rs. 7 per kg, making a profit 
of 20 percent. What was the ratio of the mixture?  

A) 5 : 2  
B) 3 : 5  
C) 2 : 5  
D) 1 : 5  
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55) ଅନୀଲ ଦୁଇ Ȅକାରର ପାଉଡର କଣିଲିା େକଜ ିପଛିା Rs. 5 ଏବଂ Rs. 6 
ଦରେର ଏବଂ େସଗଡ଼ୁକୁି େକୗଣସ ିଅନୁପାତେର ମିȎଣ କଲା ଏବଂ ଏହାପେର େସହ ି
ମȎିଣକୁ େକଜି ପିଛା Rs. 7େର ବǰିି କର ି 20 Ȅତଶିତ ଲାଭ ପାଇଲା। ଏହ ି
ମȎିଣର ଅନୁପାତ କ’ଣ ǆଲା?  

A) 5 : 2  

B) 3 : 5  

C) 2 : 5  

D) 1 : 5  
 

 
56) If a = 3, b = −5, x = 6, y =12, z = −8, then a3 + 24y − 
3b is equal to  

A) 330  
B) 320  
C) 333  
D) 345  

 

 
56) ଯଦ ିa = 3, b = −5, x = 6, y =12, z = −8, େତେବ a3 + 24y − 
3b ସମାନ  

A) 330  
B) 320  

C) 333  
D) 345  

 

 
 
57) Three angles of a quadrilateral are 65°, 92° and 132°. 
Its fourth angle in degrees is  

A) 78  
B) 82  
C) 80  
D) 71  

 

 
 
57) ଏକ ଚତୁଭƽୁ ଜୀୟ େŁǿର ତନି ିେକାଣ ଗଡ଼ୁକି 65˚, 92˚ ଓ 132˚ ଅେଟ। 
ଡǲିୀ େର ଏହା ଚତୁଥƽ େକାଣ __________ ଅେଟ।  

A) 78  

B) 82  

C) 80  

D) 71  
 

 
 

58) 

    
In the given figure, AD is the bisector of BAC, AB = 6 cm, 
AC = 5 cm, BD = 3 cm and ADB=90°. Find DC. 

 
A) 3.5 cm  
B) 11.3 cm  
C) 4 cm  
D) 2.5 cm  

 

 
 
58) 

    
ଦଆିଯାଇǆବା ଚǿିେର BAC ର ବାଇେସକȡର AD ଅେଟ, AB = 6 େସମି, AC 
= 5 େସମି, BD = 3 େସମି ଓ ADB=90˚ ଅେଟ। DC ର ଗଣନା କରŽୁ। 

 
A) 3.5 େସମି  
B) 11.3 େସମି  
C) 4 େସମ ି 

D) 2.5 େସମି  
 

 
 
59) A circle passes through the points (3,7) and (5,5). If 
the centre lies on the line x-4y=1, then the equation of the 
circle is  

A) (x+3)2+(y+1)2=15  
B) (x+3)2+(y+1)2=10  
C) (x+3)2+(y+1)2=100  
D) x2+y2=10  
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59) ଏକ ବୃŧ (3,7) ଓ (5,5) ବƃୁି େଦଇ ପାର ିେହାଇଥାଏ। ଯଦ ିେକƄ x-
4y=1 ଉପେର ରହଥିାଏ, େତେବ ବୃŧ ର ସମୀକରଣ ___________ େହବ ।  

A) (x+3)2+(y+1)2=15  
B) (x+3)2+(y+1)2=10  
C) (x+3)2+(y+1)2=100  

D) x2+y2=10  
 

 
 
60) If there are 1024 elements in the power set of B, then 
how many elements will be there in set B?  

A) 9  
B) 8  
C) 10  
D) 12  

 

 
 
60) ଯଦ ିB ର ପାୱାର େସଟେର 1024 ଟ ିଉପାଦାନ ଅଛŽ,ି େତେବ େସଟ B 
େର େକେତାଟ ିଉପାଦାନ ǆେବ?  

A) 9  

B) 8  
C) 10  
D) 12  
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Section 7 - PaperII-Social Science 

 

61) Nagercoil and Jaisalmer are known for the extensive 
use of which forms of energy?  

A) Wind energy  
B) Solar energy  
C) Nuclear energy  
D) Geothermal energy  

 

 
 
61) ନାେଗǣ େକାେୟǤ ଓ େଜସୖାǤ େମǣ  ବହୁଳ ଭାବେର େକଉଁ ଶĽି  ବȻବହାର 
କରଥିାଆŽ ି?  

A) ପବନ ଶĽି  

B) େସୗର ଶĽି  

C) ଆଣବକି ଶĽି  
D) ଭୂ ତାରଜ ଶĽି  

 

 
 
62) Who among the following personalities introduced the 
Chishti Silsila in India?  

A) Al-Hujwari  
B) Baba Farid  
C) Auliya  
D) Khwaja Muin-ud-Din  

 

 
 
62) ନେିମȪାĽମାନŋ ମżରୁ କଏି ଭାରତେର ଚƱିି ଧାରା ଆରƗ କରǆିେଲ?  

A) ଅǤ -ହୁଜୱର ି 

B) ବାବା ଫରǚି  
C) ଆଉଲିଆ  

D) ଖȭାଜା ମୁଇǜ-ଉǚ -ଦǜି   
 

 
 
63) Structures and institutions are BEST examples for 
which of the following types of resources?  

A) Renewable resources  
B) Human resources  
C) Non-Recyclable resources  
D) International resources  

 

 
 

63) ନମିȪଲିǅତ   ସମȴଳଗଡୁକି ମżରୁ ଆକୃତ ି ଓ ଅନୁƪାନଗୁଡକି େକଉଁ 
Ȅକାର  ସମȴଳର ସେବƽାŦɲ ƨ  ଉଦାହରଣ  ଅଟŽ ି?  

A) ନବୀକରଣ େଯ଼ାଗȻ ସମȴଳ  
B) ମାନବ ସମȴଳ  

C) ଚǰୀକରଣ ଅେଯ଼ାଗȻ ସମȴଳ  
D) ଅŽଜƽାତୀୟ ସମȴଳ  

 

 
 
64) Where is the Tropic of Cancer located?  

A) 23.5° S of the Equator  
B) 23.5° W of the Equator  
C) 23.5° N of the Equator  
D) 23.5° E of the Equator  

 

 
 
64) କକƽଟǰାŽ ି  େକଉଁଠାେର ଅବƳତି ?  

A) ବଷୁିବ େରଖାର 23.5 ଡǲିୀ  ଦŁିଣେର  
B) ବଷୁିବ େରଖାର 23.5 ଡǲିୀ  ପƢିମେର  

C) ବଷୁିବ େରଖାର 23.5 ଡǲିୀ  ଉŧରେର  
D) ବଷୁିବ େରଖାର 23.5 ଡǲିୀ  ପୂବƽେର  

 

 
 
65) Who among the following was the chairman of a sub-
committee on Fundamental Rights?  

A) Pandit Nehru  
B) Rajendra Prasad  
C) B.R. Ambedkar  
D) J.B. Kripalani  

 

 
 
65) ନମିȪଲିǅତ ମżରୁ କିଏ େମୗଳକି ଅǇକାର ଗଡ଼ୁକି ଉପେର ǆବା ଏକ 
ଉପସମତି ିର ଅżŁ ǆେଲ?  

A) ପŢିତ େନେହରୁ  

B) ରାେଜƄ Ȅଶାଦ  
C) ବ.ିଆର. ଆେମȴଦକର  
D) େଜ.ବ.ି କୃପାଳନୀ  
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66) As of January 2019, how many Fundamental Duties 
are there in Indian Constitution?  

A) 10  
B) 9  
C) 11  
D) 12  

 

 
 
66) ବŧƽମାନ ସମୟେର ଭାରତୀୟ ସƖିଧାନେର େକେତାଟ ି େମୗଳକି କŧƽବȻ 
ଅଛ?ି  

A) 10  

B) 9  
C) 11  

D) 12  
 

 
 
67) Which of the following was a supercontinent found 
about 300 million years ago?  

A) Laurasia  
B) Panthalassa  
C) Gondawana  
D) Pangea  

 

 
 
67) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଏକ ସପୁରକŠେିନŠ ǆଲା ଯାହାକ ିପାଖାପାǅ 
300 ମଲିିଅǜ ବଷƽ ପବୂƽେର ମିଳǆିଲା?  

A) ଲଉେରସିଆ  

B) ପାƂଲସା  
C) ଗŢାୱାନା  
D) ପେŏଇଆ  

 

 
 
68) Who among the following was the first Indian to qualify 
for the Civil Services?  

A) Surendranath Bannerji  
B) Jatin Mukherjee  
C) Satyendranath Tagore  
D) Rabindranath Tagore  

 

 
 
 
 

68) ନମିȪଲିǅତ ମżରୁ କିଏ ସଭିǤି େସବା ପାଇଁ େଯାଗȻତା Ȅାƌ କରିǆବା Ȅଥମ 
ଭାରତୀୟ ǆେଲ?  

A) ସେୁରƄନାଥ ବାନାଜƽୀ  
B) ଯତନି ମଖୁାଜƽୀ  
C) ସତȻƄନାଥ ଟାେଗାǣ  

D) ରବୀƄନାଥ ଟାେଗାǣ  
 

 
 
69) Which of the following was a local tax levied by the 
Municipalities on certain articles after they entered their 
territory?  

A) Customs Duty  
B) Sales Tax  
C) Octroi  
D) Toll  

 

 
 
69) ନମିȪଲିǅତ ମżରୁ କଏି ନଗରପାଳକିା Ÿାରା ନଜିର େŁǿେର Ȅେବଶ କରବିା 
ପେର କଛି ିେଲଖା ଗୁଡ଼କି ଉପେର Ƴାନୀୟ କର ଲାଗୁ କରǆିେଲ?  

A) ସୀମା ଶƚୁ / କƨମ ଡଉିଟ ି 
B) ବǰିି କର  

C) ଅକȡରଏ  
D) େଟାǤ  

 

 
 
70) What is the value of the latitude at the equator?  

A) 45°  
B) 0°  
C) 90°  
D) 22.5°  

 

 
 
70) ବଷୁିବ େରଖା ନକିଟେର ଅŁାଂଶର ମଲୂȻ େକେତ େହାଇଥାଏ ?  

A) 45  ଡǲିୀ  
B) 0  ଡǲିୀ  
C) 90  ଡǲିୀ  
D) 22.5  ଡǲିୀ  
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71) Which of the following gases is mainly responsible for 
the greenhouse effect in the earth's atmosphere?  

A) Carbon monoxide  
B) Nitrogen  
C) Carbon dioxide  
D) Oxygen  

 

 
 
71) ପୃǆବୀ ପୃƪେର ସବୁଜ ଗହୃ Ȅଭାବ ନମିେŽ ନମିȪଲିǅତ  ଗȻାǩ ଗଡୁକି ମżରୁ 
େକଉଁ ଗȻାǩ ମଖୂȻ ଭାେବ ଦାୟୀ ଅେଟ ?  

A) କାବƽǜ ମେନାŅାଇǕ  

B) ଉଦଜାନ 
   

C) କାବƽǜ ଅŅାଇǕ  

D) ଅମȳଜାନ  
 

 
 
72) Which of the following instruments is used to measure 
earthquakes?  

A) Barometer  
B) Seismometer  
C) Thermometer  
D) Bolometer  

 

 
 
72) ନେିମȪାĽ ମżରୁ େକଉଁ ଉପକରଣ ଭୂମିକƓ ମାପବିା ପାଇଁ ବȻବହାର 
କରାଯାଏ?  

A) ବାେରାମଟିର  
B) େସେƹାମିଟର  

C) ଥେମƽାମଟିର  
D) େବାେଲାମଟିର  

 

 
 
73) Who among the following personalities addresses 
both houses of Parliament at the commencement of the 
first session after each general election to the Lok Sabha?  

A) Vice President  
B) President  
C) Governor  
D) Prime Minister  

 

 
 

73) ନେିମȪାĽମାନŋ ମżରୁ କଏି ȄେତȻକ ସାଧାରଣ ନବିƽାଚନ ପେର େଲାକସଭାର 
Ȅଥମ ଅǇେବଶନେର ସଂସଦର ଉଭୟ ଗୃହକୁ ଉǚ େବାǇତ କରŽ?ି  

A) ଉପ-ରାƩପତ ି 
B) ରାƩପତ ି 
C) ରାଜȻପାଳ  

D) Ȅଧାନମſୀ  
 

 
 
74) In which year, was Community Development 
Programme launched in India?  

A) 1953  
B) 1952  
C) 1951  
D) 1950  

 

 
 
74) ନେିମȪାĽ ମżରୁ େକଉଁ ବଷƽେର ଭାରତେର େଗାƪୀ ଉƊୟନ କାଯƽȻǰମ ଆରƗ 
େହାଇǆଲା?  

A) 1953  

B) 1952  
C) 1951  
D) 1950  

 

 
 
75) Annie Besant launched the Home Rule Movement 
along with  

A) Motilal Nehru  
B) Subhas Chandra Bose  
C) Mohandas Karamchand Gandhi  
D) Bal Gangadhar Tilak  

 

 
 
75) ଆନ ିେବସାŽ _______ŋ ସହ େହାǡ  ରୁǤ  ଆେƃାଳନ ଆରƗ କରǆିେଲ  

A) େମାତଲିାଲ େନହରୁ  
B) ସଭୁାଷ ଚƄ େବାଷ  
C) େମାହନଦାସ କରମଚାƃ ଗାƆୀ  
D) ବାǤ  ଗŏାଧର ତଲିକ  
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Section 8 - PaperII-Science 

 

76) Read the following statements and choose the 
CORRECT option.  
(i) A gamete is formed during sexual reproduction in 
microorganisms. 

(ii) The gametes of male organisms are called ova. 

 
A) (i) is FALSE and (ii) is FALSE  
B) (i) is TRUE and (ii) is TRUE  
C) (i) is FALSE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
76) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ସŃୂଜୀବେର Ȅଜନନ ସମୟେର ଏକ େଗମିଟ ିସୃƨି େହାଇଥାଏ | 

(ii) ପୁରୁଷ ଜୀବର େଗମଟିକୁି ଓଭା କୁହାଯାଏ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

 

 
 
77) The microorganisms which convert the dead plants 
and animals to humus are known as  

A) Pesticides  
B) Autotrophs  
C) Decomposers  
D) Parasites  

 

 
 
77) ସŃୂଜୀବ ଯିଏ ମୃତ ଉŹିଦ ଓ Ȅାଣୀମାନŋୁ ହୁȻମସେର ପରଣିତ କେର 
େସଗଡୁକୁି କଣ କୁହାଯାଏ?  

A) େପƨସିାଇଡ  

B) ଅେଟାେǺାଫ  

C) ଡକିେƓାଜର  

D) ପାରାସାଇଟ  
 

 
 
 

78) Read the following statements and choose the 
CORRECT option.  
(i) Baculoviruses are pathogens that attack only plants 
having dark green leaves.  

(ii)The majority of baculoviruses used as biological 
control agents are categorised under the genus 
Nucleopolyhedrovirus. 

 
A) (i) is TRUE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is TRUE  

 

 
78) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ | 
 
(i) ବାକୁȻେଲାଭାଇରସଗୁଡକି େହଉଛ ିପାେଥାେଜନ ଯାହା େକବଳ ଗାଢ ସବୁଜ 
ରŏର ପǿ ǆବା ଉŹିଦଗଡୁକୁି ଆǰମଣ କରŽି | 
 
(ii)େଜବୖକି ନୟିſଣ ଏେଜŠ ଭାେବ ବȻବହାର େହଉǆବା ଅǇକାଂଶ 
ବାକୁȻେଲାଭାଇରସ ନୁȻକିȲଓପଲିେହେǼାଭାଇରସ Ȅଜାତୟି |  

A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  
 

 
79) When a long spring is stretched by 2 cm, its potential 
energy is U. If the spring is stretched by 10 cm, the 
potential energy stored in it will be  

A) U/5  
B) 25U  
C) 10U  
D) 5U  

 

 
79) ଏକ ଲମȴା ƶିȱŏକୁ 2 େସମି ଟଣାଯିବା େବେଳ, ଏହାର Ƴିତଜି ଶĽି U। ଯଦ ି
ଏହ ିƶିȱŏକୁ 10 େସମି ଟଣାଯିବ େତେବ ଏǆେର ǆବା Ƴିତଜି ଶĽି େହବ  

A) U/5  

B) 25U  
C) 10U  
D) 5U  
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80) Water rise in a vertical capillary tube up to a length of 
10 cm. If the tube is inclined at 45°, the length of water 
risen in the tube will be  

A) 10 cm  
B) 10√2 cm  
C) 10/√2 cm  
D) 0 cm  

 

 
 
80) ଏକ ଭୂଲମȴ େକାଷକିା ନଳୀେର ପାଣି 10 cm ଉőତା ପଯƽȻŽ ଉପରକୁ ଉେଠ 
| ଯଦ ିନଳୀଟକୁି 45° ନୁଆଇଁ ଦଆିଯାଏ, େତେବ ନଳୀେର ପାଣି େକେତ ଉőତା 
ଯାଏ ଉଠିବ?  

A) 10 cm  

B) 10√2 cm  
C) 10/√2 cm  
D) 0 cm  

 

 
 
81) One man takes 10 minutes to raise a box to a height 
of 10 metres and another man takes 5 minutes to do so. 
The energy of the  

A) first is more  
B) two is different  
C) two is same  
D) second is more  

 

 
 
81) ଜେଣ ବȻĽି େଗାଟଏି ବାŅକୁ 10 ମଟିର ଉőତାକୁ େଟକବିା ପାଇଁ 10 ମନିǓି  
ସମୟ ନଏି ଏବଂ ଅନȻ ଜେଣ ବȻĽି ଏହା କରବିା ପାଇଁ 5 ମିନǓି  ସମୟ ନଏି। 
େସମାନŋର ଶĽି  

A) Ȅଥମ ଟ ିଅǇକ  

B) ଦୁଇଟ ିଭƊି ଭƊି  
C) ଦୁଇଟ ିସମାନ  

D) Ÿତିୀୟଟ ିଅǇକ  
 

 
 
82) Which of the following options CORRECTLY 
represent "succulent" with respect to adaptation in plants?  

A) Plant adapted to saline habitat  
B) Plant adapted to aerial habitat  
C) Plant adapted to water habitat  
D) Plant adapted to desert habitat  

 

82) ଉŹିଦଗଡୁକିେର ଅନୁକୂଳନ ସମȴƆେର ନମିȪମżରୁ େକଉଁଟ ି ’ସକୁȻେଲŠ’ ର 
ଉଚତି ଅଥƽ ଦଶƽାଉଛ?ି  

A) ଉŹିଦ ଲବଣାĽ ଆବାସ Ȅତ ିଅନୁକୂଳ େହବା  
B) ଉŹିଦ ବାୟବୀୟ ଆବାସ Ȅତ ିଅନୁକୂଳ େହବା  
C) ଉŹିଦ ଜଳୀୟ ଆବାସ Ȅତ ିଅନୁକୂଳ େହବା  
D) ଉŹିଦ ମରୁଜ ଆବାସ Ȅତ ିଅନୁକୂଳ େହବା  

 

 
 
83) Which among the following options is the main site of 
protein synthesis in the structure of a cell?  

A) Lysosomes  
B) Vacuoles  
C) Ribosomes  
D) Golgi Bodies  

 

 
 
83) େଗାଟଏି େକାଷର ସଂରଚନା ମżେର ନମିȪ ବକିƝଗଡୁକି ମżରୁ େକଉଁଟ ି
େȄାଟନି ସଂେଶȲଷଣର ମଖୁȻ Ƴାନ?  

A) ଲାଇେସାେଜାମ  

B) େଭାେକȻାǤ ସ  
C) ରାଇେବାେଜାମ  
D) ଗǤ ଗି ବଡି  

 

 
 
84) Which among the following options is a modification 
of stem or leaves into thread like shape that is used by 
climbing plants for support and attachment?  

A) Spines  
B) Fleshy leaves  
C) Tendrils  
D) Thalamus  

 

 
 
84) ନମିȪମżରୁ େକଉଁ ବକିƝଟ ିକାŢ ବା ପǿର ଏକ ରୂପାŽର ଯାହା ସତୂା ଭଳ ି
ଆକାରର େହାଇ ଉŹିଦକୁ ସମଥƽନ ଓ ଆଟାଚେମŠ ପାଇଁ ଚଢବିାେର ବȻବହାର 
ହୁଏ?  

A) କŠା  
B) ମାଂସଳ ପǿ  
C) ଲତା  
D) ଥାଲାମସ  
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85) A particle starts from rest and has an acceleration of 
2 ms-2 for 10 s. After that, it travels for 30 seconds with 
constant speed and then undergoes a retardation of 4 ms-

2 and comes back to rest. The total distance covered by 
the particle is  

A) 750 m  
B) 700 m  
C) 800 m  
D) 650 m  

 

 
 
85) େଗାଟଏି କଣକିା ƳିରାବƳାରୁ ଗତ ିକରବିା ଆରƗ କରଲିା ଓ 10 s ପାଇ ଁ2 
ms-2 ର ŭରଣ ǆଲା | ଏହା ପେର, ଏହା 30 s ପାଇଁ ନରିŽର େବଗେର ଗଲା 
ଓ 4 ms-2 ମƃନେର ଗତ ିକରଲିା | ଏବଂ ପୁନଃ ƳିରାବƳା କୁ େଫର ିଆସଲିା | 
େସହ ିକଣକିା େକେତ ଦୂରତା ଅତǰିମ କରଲିା?  

A) 750 m  
B) 700 m  

C) 800 m  
D) 650 m  

 

 
 
86) What is the mole ratio of hydrogen and oxygen gases 
liberated during electrolysis of water?  

A) 1 : 2  
B) 1: 3  
C) 2 :1  
D) 4 : 1  

 

 
 
86) ଜଳର ଇେଲେକȡəାଲିସସି (ବଦୁିȻତ ଅପଘଟନ) କରିବା ସମୟେର ବାହାରୁ ǆବା 
ଉଦଜାନ ଓ ଅମȲଜାନର େମାଲ ଅନୁପାତ େକେତ?  

A) 1 : 2  

B) 1: 3  
C) 2 :1  

D) 4 : 1  
 

 
 
87) A wire can sustain the weight of 30 kg before breaking. 
If the wire is cut into two equal parts, each part can sustain 
a weight of  

A) 30 kg  
B) 90 kg  

C) 60 kg  
D) 10 kg  

 

 

87) ଏକ ତାର ଛŢିିବା ପବୂƽରୁ 30 kg ଓଜନ ସƗାଳ ିପାେର | ଯଦ ିେସହ ିତାରଟକୁି 
ଦୁଇ ସମାନ ଭାଗେର କାଟ ିଦଆିଯାଏ, ȄେତȻକ ଭାଗଟ ି େକେତ ଓଜନ ସƗାଳ ି
ପାରବି ?  

A) 30 kg  
B) 90  kg  

C) 60 kg  
D) 10  kg  

 

 
 
88) When dilute hydrochloric acid is added to iron fillings 
which of the following is produced?  

A) Carbon dioxide gas and iron chloride  
B) Oxygen gas and iron chloride  
C) Sulphur dioxide gas and iron chloride  
D) Hydrogen gas and iron chloride  

 

 
 
88) େଯେତେବେଳ ଜଳମିȎିତ ହାଇେǼାେକȲାରକି ଅମȲ କୁ ଆଇରନ ଫିଲିŏେର 
ପକାଯାଏ େତେବ କଣ ସƨୃି ହୁଏ?  

A) ଅŏାରକାମȲ ଗȻାସ ଓ ଆଇରନ େକȲାରାଇଡ  

B) ଅମȲଜାନ ଗȻାସ ଓ େକȲାରାଇଡ ସୃƨି ହୁଏ  
C) ସଲଫର ଡାଇଅŅାଇଡ ଗȻାସ ଓ ଆଇରନ େକȲାରାଇଡ  

D) ଉଦଜାନ ଗȻାସ ଓ ଆଇରନ େକȲାରାଇଡ  
 

 
 
89) The extension in a string obeying Hooke's law is x. 
The speed of sound in the stretched string is v. If the 
extension in the string is increased to 9x, the speed of 
sound will be  

A) 9 v  
B) 3 v  
C) v/9  
D) v/3  
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89) ହୁŅŋ ନୟିମ ମାନୁǆବା ଏକ ତାରେର ସƔସାରଣ େହଉଛ ିx |  Ȅସାରିତ 
ତାରେର Żନରି େବଗ େହଉଛ ିv | ଯଦ ିତାରର ସƔସାରଣକୁ 9x କରଦିଆିଯାଏ, 
େତେବ Żନରି େବଗ େକେତ େହବ?  

A) 9 v  
B) 3 v  
C) v/9  

D) v/3  
 

 
90) Where does the condensation of protein granules 
usually take place in a plant cell?  

A) Ribosomes  
B) Nucleus  
C) Endoplasmic reticulum  
D) Golgi complex  

 

 
 
90) ଏକ ଉŹିଦ େକାଷେର ସାଧାରଣତଃ େକଉଁ Ƴାନ େȄାଟନି କଣକିାଗୁଡକିର 
ସଂଘନନ େହାଇଥାଏ?  

A) ରାଇେବାେଜାମ  
B) ନୁȻକିȲଅସ  
C) ଏେŢାପȲାଜମକି େରଟକୁିଲମ  

D) ଗǤ ଗ ିକେƓȲŅ  
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Question Paper No:  53634_74  

Answer Key 

1.  A 
2.  D 
3.  B 
4.  A 
5.  A 
6.  C 
7.  A 
8.  C 
9.  C 
10.  D 
11.  D 
12.  A 
13.  D 
14.  A 
15.  A 
16.  C 
17.  B 
18.  C 
19.  C 
20.  B 
21.  B 
22.  C 
23.  B 
24.  B 
25.  D 
26.  D 
27.  C 
28.  D 
29.  A 
30.  D 

 

31.  A 
32.  D 
33.  D 
34.  A 
35.  D 
36.  C  
37.  B  
38.  B  
39.  C  
40.  C  
41.  B  
42.  C  
43.  B  
44.  D 
45.  B  
46.  C  
47.  C  
48.  D 
49.  A 
50.  D 
51.  A 
52.  D 
53.  C  
54.  D 
55.  D 
56.  A 
57.  D 
58.  D 
59.  C  
60.  C  

 

61.  A 
62.  D 
63.  B  
64.  C  
65.  D 
66.  C  
67.  D 
68.  C  
69.  C  
70.  B  
71.  C  
72.  B  
73.  B  
74.  B  
75.  D 
76.  D 
77.  C  
78.  B  
79.  B  
80.  B  
81.  C  
82.  D 
83.  C  
84.  C  
85.  A 
86.  C  
87.  A 
88.  D 
89.  B  
90.  D 
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